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Q.1 Write the correct option Le, A, B, C and D in the emply bex provlﬂad-opposlts to gach part,

cerrmreneenen 8 e type of non-direclicnal orientation.
{a} Taxis (b}  Kinesls {c)  Tropism

{d) Imprinting
The number of linkage groug-inmanis .......oivieniees '
& 2 . - (b} 23 o) 46 {d 92
Law of segregation s related to ... . - _ -
{8) Testcioss (b}  Back cross {c) Monchybrid cress {d)  Dihybad cross
The symplom of Alzheimer disease is ............... 7 /...,
{a} Shakingofhands (b) Headache ~Hey  Photophobia (d} Memory Lapse
The following are symptoms of meningitis except one ...oo.ivin, .
{a) Photophabia {b)  Severe headache  (c)  Memorylosses -(d}  Vomiting
BCGvaccineisatypeof ... feeerens vaccine, , '
(8) Kled - - (b) Liveattenuated {¢c)  Conjugated (d}  Subunit
The protective coat which surrounds the embryo is ........ rrerrerrne
{a) Cherian - (b}  Allantosis {c) Chotic-alfantgic  {d)  ‘Amnion
........................... is a classic symptom of hyperihyroidism, .
{a) Exophthaimia {by  Goiter (c) Rickets (d) Micrq_cephafy
The H-substance gene is present on chromosome number .....c.c....oeveeeinneee, ‘ .
(@ 19 - by 10 ' (c) 9 d 12
Within the ovary progesterone is produced by the ......vvineiiiennns
{a) Campusalhicans (b} - Carpus luteum (c) Tediary follicles  {d}  Primary follicles
........................... is characterized by increases oxalale level in urine,
{a) Hyperoxaluria {t)  Hypercalcemia ¢} -~ Hyperurecamia  (d}  MNoneof these
Which is not salient feature of Darwin theory? )
{a) Use and disuse of organ (b}  Overproduclion
(c) Struggle for existence - {d)  Varation
Insight leaming was observed iR ... :
{a) Rats (by Dogs (¢} Chimpanzees (d) Cals
in succession ithosere takes place On ...vveveiicenniineenn
{a) Sand {b)y Water {c) Forest floar + (d) Bareiocks
Wheat has .....................number of chromosomes. _
(@) 42 {b) 43 oy 44 (d} 46
Genes for milk, is an examplg of ...,..ccovenn L drait,
(@) Sex limited {b)  Sexinfiuenced (c) Sex linked {d}  Mone of these
HIV destroy a type of defense celiinthe body called a ... helper lymphocyte.
(a) CD4 (b} CD8 : (c) £D24 {dy CDz8
A condition of excessive thirst is known 88 ...........eceanns
(a) Polyuria (b)  Polydipsia {c) Polyphagia (dy  Allefthese

=]
e
A

=

:

——

(xi}

{xii}

(it
{xiv)
(xv}
{xvi)
{xvii)

(xvif)



who v f
MENTT o AS

s Cizy
{Part — 1)
(Fresh / New Course)
Section-B & C Total Marks : 67
Time Allowed : 2:40 Hrs. Section—B ' Marks : 40

Q.2 Answer any Ten parts. Each part carrics equal marks.
(i} How rcgulation of blood flow to skin is h':lpﬁ.ll to maintain body temperature?
(ii) = Brictly describe the territorial behaviar, ' '
(1ii)  Define Hardy Weinberg principle.
C(iv)  List down the control measuces against HIV infection.
'(v) Write down a note on Otitis Media. _
(vi) - Why human testes are located outside the-abdominal cavity>
(vii)  What is Hamburger's phenomenon? |
(viii) Differentiate between special creation and evolution.
(ix)  How ADI controls the concentration of urine?
(x)  DBriefly discuss sex-limited trait.
(xi)  What is recapitulation gheory?
(xii)  What do you know about ¢he gene therapy of cystic Jibrosis?
{xiit) What are Toxoid vaccines”

Section ~ C .+ Marks: 27

NOTE : Attempt any THREE questions. Each question earries equal marks,

Q.3 Whatis céologica] succession? Wrile ils types. How ecological succession takes placin
extremely dry condition?

Q.4 Explain Mendel's law of independent assortment.

Q.5 How embryonic development of human oceur?

Q.6 Write notes on any two.
(a)  Discuss acid rain. ()  Influence of deforestation on environment.

(¢) Ozone layer



